FIGURE 6: Operating mode Test for Cross Talk/ Feedthrough via channel disables

Test 6: Load CR1 for all channels pulsed, and steepest leagake sllope
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Test 6(contd): Test amplitude = 90fC (test amplitude DAC=90); threshold = 2fC (threshold DAC = 48), att=1(00) in CR2 register
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Figure 6a: Load CR3 for odd channels enabled, MUX disabled, Vfb set to '30' on DAC
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Test 6a (contd)
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Only odd channel outputs must fire.




Figure 6b: Load CR3 for even channels enabled, MUX disabled, Vfb set to '30' on DAC
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Test 6b (contd)
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Only even channel outputs must fire.




